Construction division. Advice for giving credit to contractors/suppliers.

_												
SI. 1	No. – site bills registe	Date - Bile b					bills	31.03.23				
Con	npany Name:	0	evescential ab site:					CHVONE				
Name of Contractor												
Nature of work			Nalli krishna									
Wor	k done	From Date 01.03.23 T					To Date	o Date $22.03.23$				
Sl. No.	Villa/Flat/block no.		Qty.	Rate		Units	Amou		Contractors bill no			
1.)	Septic tank		560	21	1	SFF	13	440				
2.	Rec beam		16.25	4	0	SIF		50				
3.	1 (6 . 66)		48	10				80				
1	site of the e plas rectification, confi	teung Exeme	60	21	1	St-		140				
5.	purhelana laus	NA.	115	16		Rff		340				
®	Main bock redaining wall a	acter	738.23	16	5	SH	113	312				
7.	compound war		738.23		2011	Sft	7	38				
4	west side		229.67	16		Sft	36	75				
9.	Hacking	-	229.67			Sft	2:	30	1			
11.	T	otal:					-					
			Ed 270		COTI	•11	343		,,,			
			ES I NO.			oill requ		YYSA	2 m , y , y , y , y ,			
			equired of required									
estimate sheet:			or required		PO/WO date:			3 TVOL CITC	iosed			
Rema	rks:											
								7				
			. 1									
Appro	ved by-Project/Manag	gry	Approve	d by I	Design '	Feam	Approv	ed by M.	D.			
Date:	Part I was a second		Date:				Date:					
ign:	2 1 AFR 2UZ.	I	Sign: Sign:									

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, thinkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for furnitely jobs where guideline rates are clearly given.

	34,304			Total Amount			
	230	1	sfti	229.67	Hacking for compound wall	Compound Wall	4
	3,675	16	sft	229.67	West dide compound wall pleastering		
	738	ם	sfti	738.23	Hacking for retaining wall	wall	Ú
	11,812	16	sft	738.23	External plastering at grid A5 & F5-6	Main block retaining	
	1,840	16	rft	115.00	curbstone laying around site office	external rectification	١
	1,440	24	sft	60.00	west side of conference room	Site Office Plastering	ပ
	480	10	rft	48.00	CC bed		
	650	40	sft	16.25	RCC beam	office	Е
	13,440	24	sft	560.00	Brickwork for internal wall		
Item head total	Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
						٠.	
231	ယ်	29-03-2023		Date	Abdul Rahman	Prepared By:	Prepa
5	ω	22-03-2023	ate:	Work end date	Nalli Krishna	actor:	Contractor:
AC)	ယ်	01-03-2023	late:	Work start date	Brick work	Work Description:	Work
	and y	200000		Sign:	GV ONE)t:	Project:
	ddy	Subha Reddy	<u> </u>	Approved by:	Crecentia Labs Pvt Ltd	Company Name:	Comp
i de						ESTIMATE SHEET	ESTI

										S	Τ		Pre	Co	Wo	Pro	Coı	ME							
4		. (N.	P	د			<u>بيد</u> ن		S No. I	-		Prepared By:	Contractor:	ik De	Project:	mpany	ASUI							
Compound wall		retaining wall	Main block	Plastering external	Site Office		office	Septic tank of site		Item Head	,		By:	JT.	Work Description:		Company Name:	MEASUREMENT SHEET							
Lacking for wall	West dide compound wall pleastering	Hacking for wall	External plastering at grid A5 & F5-6	kerbstone fixing around site office	west side of conference room	CC bed	RCC beam	Brickwork for internal wall	Brickwork for external wall	Item Description			Abdul Rahman	Nalli Krishna	Concrete work for footings	GV ONE	Crecentia Labs Pvt Ltd								
114.835	114.835	49.22	49.22	115	10	48	6.50	10.00	48.00	Length	Α	,	3				,								
ı	1	1.00	1.00	1.00	1.00	1.00	1.00	1.00	1.00	Width	В														
2	2	15.00	15.00	ъ,	ნ.	1	2.50	8.00	10.00	Height	С		Date:	Work end date	Work start date	Sign:	Approved by:								
1	Ъ	1	1	Ь	1	1	1	1	1	Nos.	D			date:	date:		by:								
229.67	229.67	738.23	738.23	115.00	60.00	48.00	16.25	80.00	480.00	Quantity	E=AxBxCxD	*	29-03-2023	22-03-2023	01-03-2023		Subba Reddy								
SFT	SFT	SFT	SFT	∄	sft	rft	sft	sft	sft	Units	F														
229.67	229.67	738.23	738.23	115.00	60.00	48.00	16.25	580.00		Item Head Total	G=Sum of E					,									

Allowance for Consumables

Nelli krishna 9-160-9-11 bhalaji nager Andhra pardesh

Date: 31.03.23

In favor of:

Crescentia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally

Type of Work:

Septic tank brick work

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards Septic tank	
	brick work at site.	Rs: 6,860/=
	Total Amount = Rs: 34,304/-	
	Work done from date 01.03.23 to date 22.03.23.	

Amount in words: Six thousand eight hundred sixty Rupees only.

Sign:	

Bill for Equipment Allowance

Nelli krishna 9-160-9-11 bhalaji nager Andhra pardesh

Date: 31.03.23

In favor of:

Crescentia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally

Type of Work:

Septic tank brick work

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Towards Septic tank brick work at site. Total Amount = Rs: 34,304/-	Rs: 13,721/-
	Work done from date 01.03.23 to date 22.03.23.	

Amount in words: Thirteen thousand seven hundred twenty one Rupees only..

Sign:	

Bill for Labour Charges

Nelli krishna 9-160-9-11 bhalaji nager Andhra pardesh

Date: 31.03.23

In favor of:

Crescentia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally

Type of Work:

Septic tank brick work

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Septic tank	
1	brick work at site.	Rs: 13,721/-
	Total Amount = Rs: 34,304/-	,
	Work done from date 01.03.23 to date 22.03.23.	

Amount in words: Thirteen thousand seven hundred twenty one Rupees only..